The Lynx Eats the Hare Lab

Procedure:

1. Begin the simulation by populating the habitat with three hares- spatially dispersed within the square.

2. Toss the cardboard lynx into the square in an effort to capture (land on any portion of) as many hares as possible. In order to survive & reproduce, the lynx must capture at least three hares when tossed. (At this stage the lynx survival is virtually impossible). Remove any hares captured & enter the tallies for the 1st generation.

3. The hare population doubles between generations- multiply “Hares remaining” by two and enter the resulting number in the “Number of Hares” column for the second generation. If no lynx survived the previous generation another moves into the area. Toss the newly recruited lynx- repeating step 2. Remove any captured hares & enter the new tallies.

4. By generation 5 the lynx should be able to capture three hares when tossed. If successful, the lynx survives until the next generation and also produces offspring (one per each three hares captured.) Toss the lynx square once for each lynx.

5. As the population builds it is important to separately tally each lynx’s kills, removing captured hares after each lynx is tossed.

6. Between generations 9 & 11, the populations will probably crash back to, or near, zero. If and when this happens be sure to begin subsequent generations with at least three hares. Do this simulation through 20 generations.

Analysis

1. For each animal make a plot (make a graph) of population totals (the first two columns) versus generation number. By plotting the hare population & the lynx population side by side on the same graph, the relationship between the two becomes abundantly clear.

Questions:

1. Identify the predator. What is the predator’s food source?

2. Identify the prey. What is the prey’s food source?

3. The number of hares is decreasing rapidly because the lynx and the fellow predators are eating them. Simple predator-prey theory describes a relationship between the predator & prey; but what is the relationship between the lynx & the fellow predators?

4. More recent research suggests that snowshoe hare population numbers fluctuate even when lynxes are excluded from the environment. What might be responsible for this “natural” fluctuation? What are the implications of this phenomenon, in terms of population numbers for lynxes and snowshoe hares over time, even when the populations do not interact?

5. Would you expect to see the same type of “natural” fluctuations in the lynx population in the absence of snowshoe hare prey? Discuss.
